



LUDHIANA GH AGENCY

Regd. Office : B-24,HOUSE NO. 4663,STREET NO 6, JAIN COLONY B-24,HOUSE NO.
4663,STREET NO 6 JAIN COLONY
TEL: 0-1,613,100,274, EMAIL:

Billed To :Peyush Knitwears Ludhiana Ludhiana India	Invoice No. : PB2324LDH00023 Invoice Date : 01-July-2023 Document Date : 30-June-2023 Supplier Bill No : 334 Order Number : Place of supply : Punjab
Contact : PH : GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	Reverse Charge : No Transport Name : E-Way Bill No : LR No. : Booking Date : No of Parcel : 1.00
Shipped To :Peyush Knitwears Ludhiana Ludhiana India GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	

Sr. No.	Description of Goods	HSN/SAC Code	Category	Design	Size	Qty.	UOM	Rate	Gross Amount	Disc %	Discount Amount	Taxable Amount
1	T-Shirt	6109100..				36	PCS	150.00	5,400.00	6	324.00	5,076.00
2	T-Shirt	6109100..				6	PCS	255.00	1,530.00	6	91.80	1,438.20
3	T-Shirt	6109100..				9	PCS	400.00	3,600.00	6	216.00	3,384.00
4	T-Shirt	6109100..				36	PCS	200.00	7,200.00	6	432.00	6,768.00
5	T-Shirt	6109100..				18	PCS	200.00	3,600.00	6	216.00	3,384.00
6	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
7	T-Shirt	6109100..				9	PCS	290.00	2,610.00	6	156.60	2,453.40
8	T-Shirt	6109100..				12	PCS	300.00	3,600.00	6	216.00	3,384.00
9	T-Shirt	6109100..				36	PCS	190.00	6,840.00	6	410.40	6,429.60
10	T-Shirt	6109100..				18	PCS	190.00	3,420.00	6	205.20	3,214.80
11	T-Shirt	6109100..				36	PCS	270.00	9,720.00	6	583.20	9,136.80
12	T-Shirt	6109100..				9	PCS	280.00	2,520.00	6	151.20	2,368.80
13	T-Shirt	6109100..				9	PCS	270.00	2,430.00	6	145.80	2,284.20
14	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
15	T-Shirt	6109100..				36	PCS	290.00	10,440.00	6	626.40	9,813.60
16	T-Shirt	6109100..				36	PCS	130.00	4,680.00	6	280.80	4,399.20
17	T-Shirt	6109100..				18	PCS	235.00	4,230.00	6	253.80	3,976.20
18	T-Shirt	6109100..				36	PCS	140.00	5,040.00	6	302.40	4,737.60
19	T-Shirt	6109100..				18	PCS	245.00	4,410.00	6	264.60	4,145.40
20	T-Shirt	6109100..				9	PCS	390.00	3,510.00	6	210.60	3,299.40
21	T-Shirt	6109100..				9	PCS	380.00	3,420.00	6	205.20	3,214.80
22	T-Shirt	6109100..				36	PCS	180.00	6,480.00	6	388.80	6,091.20
23	T-Shirt	6109100..				18	PCS	180.00	3,240.00	6	194.40	3,045.60
24	T-Shirt	6109100..				6	PCS	210.00	1,260.00	6	75.60	1,184.40

TOTAL ₹ 528 119,340.00 7,160.40 112,179.60

Bank Name :- Branch :-
Acct. No :- IFSC Code :-

For LUDHIANA GH AGENCY

Authorised Signatory



LUDHIANA GH AGENCY

Regd. Office : B-24,HOUSE NO. 4663,STREET NO 6, JAIN COLONY B-24,HOUSE NO.
4663,STREET NO 6 JAIN COLONY
TEL: 0-1,613,100,274, EMAIL:

Billed To :Peyush Knitwears Ludhiana Ludhiana India	Invoice No. : PB2324LDH00023 Invoice Date : 01-July-2023 Document Date : 30-June-2023 Supplier Bill No : 334 Order Number : Place of supply : Punjab
Contact : PH : GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	Reverse Charge : No Transport Name : E-Way Bill No : LR No. : Booking Date : No of Parcel : 1.00
Shipped To :Peyush Knitwears Ludhiana Ludhiana India GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	

Sr. No.	Description of Goods	HSN/SAC Code	Category	Design	Size	Qty.	UOM	Rate	Gross Amount	Disc %	Discount Amount	Taxable Amount
1	T-Shirt	6109100..				36	PCS	150.00	5,400.00	6	324.00	5,076.00
2	T-Shirt	6109100..				6	PCS	255.00	1,530.00	6	91.80	1,438.20
3	T-Shirt	6109100..				9	PCS	400.00	3,600.00	6	216.00	3,384.00
4	T-Shirt	6109100..				36	PCS	200.00	7,200.00	6	432.00	6,768.00
5	T-Shirt	6109100..				18	PCS	200.00	3,600.00	6	216.00	3,384.00
6	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
7	T-Shirt	6109100..				9	PCS	290.00	2,610.00	6	156.60	2,453.40
8	T-Shirt	6109100..				12	PCS	300.00	3,600.00	6	216.00	3,384.00
9	T-Shirt	6109100..				36	PCS	190.00	6,840.00	6	410.40	6,429.60
10	T-Shirt	6109100..				18	PCS	190.00	3,420.00	6	205.20	3,214.80
11	T-Shirt	6109100..				36	PCS	270.00	9,720.00	6	583.20	9,136.80
12	T-Shirt	6109100..				9	PCS	280.00	2,520.00	6	151.20	2,368.80
13	T-Shirt	6109100..				9	PCS	270.00	2,430.00	6	145.80	2,284.20
14	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
15	T-Shirt	6109100..				36	PCS	290.00	10,440.00	6	626.40	9,813.60
16	T-Shirt	6109100..				36	PCS	130.00	4,680.00	6	280.80	4,399.20
17	T-Shirt	6109100..				18	PCS	235.00	4,230.00	6	253.80	3,976.20
18	T-Shirt	6109100..				36	PCS	140.00	5,040.00	6	302.40	4,737.60
19	T-Shirt	6109100..				18	PCS	245.00	4,410.00	6	264.60	4,145.40
20	T-Shirt	6109100..				9	PCS	390.00	3,510.00	6	210.60	3,299.40
21	T-Shirt	6109100..				9	PCS	380.00	3,420.00	6	205.20	3,214.80
22	T-Shirt	6109100..				36	PCS	180.00	6,480.00	6	388.80	6,091.20
23	T-Shirt	6109100..				18	PCS	180.00	3,240.00	6	194.40	3,045.60
24	T-Shirt	6109100..				6	PCS	210.00	1,260.00	6	75.60	1,184.40

TOTAL ₹ 528 119,340.00 7,160.40 112,179.60

Bank Name :- Branch :-
Acct. No :- IFSC Code :-

For LUDHIANA GH AGENCY

Authorised Signatory



LUDHIANA GH AGENCY

Regd. Office : B-24,HOUSE NO. 4663,STREET NO 6, JAIN COLONY B-24,HOUSE NO.
4663,STREET NO 6 JAIN COLONY
TEL: 0-1,613,100,274, EMAIL:

Billed To :Peyush Knitwears Ludhiana Ludhiana India	Invoice No. : PB2324LDH00023 Invoice Date : 01-July-2023 Document Date : 30-June-2023 Supplier Bill No : 334 Order Number : Place of supply : Punjab
Contact : PH : GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	
Shipped To :Peyush Knitwears Ludhiana Ludhiana India	Reverse Charge : No Transport Name : E-Way Bill No : LR No. : Booking Date : No of Parcel : 1.00
GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	

Sr. No.	Description of Goods	HSN/SAC Code	Category	Design	Size	Qty.	UOM	Rate	Gross Amount	Disc %	Discount Amount	Taxable Amount
1	T-Shirt	6109100..				36	PCS	150.00	5,400.00	6	324.00	5,076.00
2	T-Shirt	6109100..				6	PCS	255.00	1,530.00	6	91.80	1,438.20
3	T-Shirt	6109100..				9	PCS	400.00	3,600.00	6	216.00	3,384.00
4	T-Shirt	6109100..				36	PCS	200.00	7,200.00	6	432.00	6,768.00
5	T-Shirt	6109100..				18	PCS	200.00	3,600.00	6	216.00	3,384.00
6	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
7	T-Shirt	6109100..				9	PCS	290.00	2,610.00	6	156.60	2,453.40
8	T-Shirt	6109100..				12	PCS	300.00	3,600.00	6	216.00	3,384.00
9	T-Shirt	6109100..				36	PCS	190.00	6,840.00	6	410.40	6,429.60
10	T-Shirt	6109100..				18	PCS	190.00	3,420.00	6	205.20	3,214.80
11	T-Shirt	6109100..				36	PCS	270.00	9,720.00	6	583.20	9,136.80
12	T-Shirt	6109100..				9	PCS	280.00	2,520.00	6	151.20	2,368.80
13	T-Shirt	6109100..				9	PCS	270.00	2,430.00	6	145.80	2,284.20
14	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
15	T-Shirt	6109100..				36	PCS	290.00	10,440.00	6	626.40	9,813.60
16	T-Shirt	6109100..				36	PCS	130.00	4,680.00	6	280.80	4,399.20
17	T-Shirt	6109100..				18	PCS	235.00	4,230.00	6	253.80	3,976.20
18	T-Shirt	6109100..				36	PCS	140.00	5,040.00	6	302.40	4,737.60
19	T-Shirt	6109100..				18	PCS	245.00	4,410.00	6	264.60	4,145.40
20	T-Shirt	6109100..				9	PCS	390.00	3,510.00	6	210.60	3,299.40
21	T-Shirt	6109100..				9	PCS	380.00	3,420.00	6	205.20	3,214.80
22	T-Shirt	6109100..				36	PCS	180.00	6,480.00	6	388.80	6,091.20
23	T-Shirt	6109100..				18	PCS	180.00	3,240.00	6	194.40	3,045.60
24	T-Shirt	6109100..				6	PCS	210.00	1,260.00	6	75.60	1,184.40

TOTAL ₹ 528 119,340.00 7,160.40 112,179.60

Bank Name :- Branch :-
Acct. No :- IFSC Code :-

For LUDHIANA GH AGENCY

Authorised Signatory



LUDHIANA GH AGENCY

Regd. Office : B-24,HOUSE NO. 4663,STREET NO 6, JAIN COLONY B-24,HOUSE NO.
4663,STREET NO 6 JAIN COLONY
TEL: 0-1,613,100,274, EMAIL:

Billed To :Peyush Knitwears Ludhiana Ludhiana India	Invoice No. : PB2324LDH00023 Invoice Date : 01-July-2023 Document Date : 30-June-2023 Supplier Bill No : 334 Order Number : Place of supply : Punjab
Contact : GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	Reverse Charge : No Transport Name : E-Way Bill No : LR No. : Booking Date : No of Parcel : 1.00
Shipped To :Peyush Knitwears Ludhiana Ludhiana India GSTIN/UIN :03ABUPK1005G2Z1 State Name :Punjab - Code : 3	

Sr. No.	Description of Goods	HSN/SAC Code	Category	Design	Size	Qty.	UOM	Rate	Gross Amount	Disc %	Discount Amount	Taxable Amount
1	T-Shirt	6109100..				36	PCS	150.00	5,400.00	6	324.00	5,076.00
2	T-Shirt	6109100..				6	PCS	255.00	1,530.00	6	91.80	1,438.20
3	T-Shirt	6109100..				9	PCS	400.00	3,600.00	6	216.00	3,384.00
4	T-Shirt	6109100..				36	PCS	200.00	7,200.00	6	432.00	6,768.00
5	T-Shirt	6109100..				18	PCS	200.00	3,600.00	6	216.00	3,384.00
6	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
7	T-Shirt	6109100..				9	PCS	290.00	2,610.00	6	156.60	2,453.40
8	T-Shirt	6109100..				12	PCS	300.00	3,600.00	6	216.00	3,384.00
9	T-Shirt	6109100..				36	PCS	190.00	6,840.00	6	410.40	6,429.60
10	T-Shirt	6109100..				18	PCS	190.00	3,420.00	6	205.20	3,214.80
11	T-Shirt	6109100..				36	PCS	270.00	9,720.00	6	583.20	9,136.80
12	T-Shirt	6109100..				9	PCS	280.00	2,520.00	6	151.20	2,368.80
13	T-Shirt	6109100..				9	PCS	270.00	2,430.00	6	145.80	2,284.20
14	T-Shirt	6109100..				36	PCS	280.00	10,080.00	6	604.80	9,475.20
15	T-Shirt	6109100..				36	PCS	290.00	10,440.00	6	626.40	9,813.60
16	T-Shirt	6109100..				36	PCS	130.00	4,680.00	6	280.80	4,399.20
17	T-Shirt	6109100..				18	PCS	235.00	4,230.00	6	253.80	3,976.20
18	T-Shirt	6109100..				36	PCS	140.00	5,040.00	6	302.40	4,737.60
19	T-Shirt	6109100..				18	PCS	245.00	4,410.00	6	264.60	4,145.40
20	T-Shirt	6109100..				9	PCS	390.00	3,510.00	6	210.60	3,299.40
21	T-Shirt	6109100..				9	PCS	380.00	3,420.00	6	205.20	3,214.80
22	T-Shirt	6109100..				36	PCS	180.00	6,480.00	6	388.80	6,091.20
23	T-Shirt	6109100..				18	PCS	180.00	3,240.00	6	194.40	3,045.60
24	T-Shirt	6109100..				6	PCS	210.00	1,260.00	6	75.60	1,184.40

TOTAL ₹ 528 119,340.00 7,160.40 112,179.60

Bank Name :- Branch :-
Acct. No :- IFSC Code :-

For LUDHIANA GH AGENCY

Authorised Signatory

